
                  P L U S    
 

mit Zehnerübergang 
 
 
 

8  +  4  =  ____  +  ____  +  ____  =  _____ 
 
7  +  5 =   ____  +  ____  +  ____  =  _____ 
 
9  +  7 =   ____  +  ____  +  ____  =  _____ 
 
5  +  6  =  ____  +  ____  +  ____  =  _____ 
 
3  +  8  =  ____  +  ____  +  ____  =  _____ 
 
6  +  7  =  ____  +  ____  +  ____  =  _____ 
 
8  +  9  =  ____  +  ____  +  ____  =  _____ 
 
4  +  7  =  ____  +  ____  +  ____  =  _____ 
 
7  +  7  =  ____  +  ____  +  ____  =  _____ 
 
5  +  9  =  ____  +  ____  +  ____  =  _____ 
 
2  +  9  =  ____  +  ____  +  ____  =  _____ 
 
6  +  6  =  ____  +  ____  +  ____  =  _____ 
 
 

U. Willrodt, Lübeck 
 



                  P L U S    
 

mit Zehnerübergang 
 
 
 

9  +  6  =  ____  +  ____  +  ____  =  _____ 
 
3  +  9 =   ____  +  ____  +  ____  =  _____ 
 
5  +  8 =   ____  +  ____  +  ____  =  _____ 
 
9  +  5  =  ____  +  ____  +  ____  =  _____ 
 
8  +  7  =  ____  +  ____  +  ____  =  _____ 
 
6  +  8  =  ____  +  ____  +  ____  =  _____ 
 
7  +  4  =  ____  +  ____  +  ____  =  _____ 
 
5  +  7  =  ____  +  ____  +  ____  =  _____ 
 
8  +  3  =  ____  +  ____  +  ____  =  _____ 
 
4  +  8  =  ____  +  ____  +  ____  =  _____ 
 
6  +  9  =  ____  +  ____  +  ____  =  _____ 
 
3  +  8  =  ____  +  ____  +  ____  =  _____ 
 
 

U. Willrodt, Lübeck 



P L U S     
 

     mit Zehnerübergang 
 
 
Rechne wie in der ersten Aufgabe: 
 

3  +  9  =      3    +     7     +     2     =  _____ 
 
8  +  7 =   ____  +  ____  +  ____  =  _____ 
 
6  +  6 =   ____  +  ____  +  ____  =  _____ 
 
9  +  5  =  ____  +  ____  +  ____  =  _____ 
 
7  +  6  =  ____  +  ____  +  ____  =  _____ 
 
4  +  7  =  ____  +  ____  +  ____  =  _____ 
 
9  +  9  =  ____  +  ____  +  ____  =  _____ 
 
5  +  9  =  ____  +  ____  +  ____  =  _____ 
 
8  +  6  =  ____  +  ____  +  ____  =  _____ 
 
7  +  5  =  ____  +  ____  +  ____  =  _____ 
 
2  +  9  =  ____  +  ____  +  ____  =  _____ 
 
6  +  8  =  ____  +  ____  +  ____  =  _____ 
 
 

U. Willrodt, Lübeck 
 



P L U S      
 

     mit Zehnerübergang 
 
 
Rechne wie in der ersten Aufgabe: 
 

9  +  5  =      9    +     1     +     4     =  _____ 
 
8  +  6 =   ____  +  ____  +  ____  =  _____ 
 
7  +  4 =   ____  +  ____  +  ____  =  _____ 
 
6  +  5  =  ____  +  ____  +  ____  =  _____ 
 
3  +  8  =  ____  +  ____  +  ____  =  _____ 
 
5  +  6  =  ____  +  ____  +  ____  =  _____ 
 
9  +  4  =  ____  +  ____  +  ____  =  _____ 
 
5  +  9  =  ____  +  ____  +  ____  =  _____ 
 
8  +  3  =  ____  +  ____  +  ____  =  _____ 
 
7  +  8  =  ____  +  ____  +  ____  =  _____ 
 
2  +  9  =  ____  +  ____  +  ____  =  _____ 
 
6  +  8  =  ____  +  ____  +  ____  =  _____ 
 
 

U. Willrodt, Lübeck 
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